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FLIR RS XA
ZFHE (BRIE)
NEANT Fr )& D | EHE 5 aF NEAT
1 FLMRMEG.RGZ T 7 AF—2L| 8.400 | 4.600 | 0.00 | 13.000 1
2 Sieg R. GZ/97AF—2x | 8.200  3.600 | 0.00 | 11.800 2
3 |Sieg R. GZF7BF—24| 3.400 | 0.900 = 0.00 | 4.300 3
4 Sieg R. GZZ7DF—2x| 2.300 | 1.300 | 0.00  3.600 4
5 | FLBEMEG.RGZ ¥ 7 PF—L 2.500 | 1.050 | 0.00 | 3.550 5
6 IELATEWES T T 1.600 = 1.500 | 0.00  3.100 6
7 |FLMEMEG.RGZ 7 7 VF—L | 1.700 | 0.700 | 0.00 | 2.400 7
8  ALMEMEG.RGZ 77 CF—2A 1.300  0.200 | 0.00 | 1.500 8
9 Sieg R. GZZ7CF—2x | 1.800 0.100 | 0.90 | 1.000 9




